2.5

1) y=2x+4
m =
Ilm=2

3) y=4x-5
m=4
Ilm=4

5) x—y=4
—X —x
) _=x, 4
-1 -1 -1
y=x—4
m=1
Ilm=1

7) 7x+y=-2
—7x —7x
y=-7x—2
m= -7
Im=-7

9) x=3
m = undefined
1lm=0

11) y = —=x
m=_1

3
1lm=

13) x—-3y=-6
—Xx —Xx
-3y _-x 6
-3 -3 -3
y=3x+2

3
m=1
3
1lm=3

x+2y=8
—X —X
Zy_x_ 8
2 2 2
y=—%x+4
1
m=—-=
1lm=2

17) Through (2,5),par to x = 4

m = undefined
[ m = undefined
x =2

19) Through (3,4),par toy = gx -5

21)

9
m=-
2

[ m=

y=4=5(x=3)

N | ©

Through (2,3),partox =0
7

m=-
5

| m=

vl

y—3=§&—2)

23) Through (4,2),par tox =0

m = undefined
Il m = underfined
x =4

25) Through (1,—5),perptoy = x + 1

m=1
Ilm=-1
y+5=—-1(x—-1)

27) Through (5,2)perptoy = —5x — 3

m= -5
1

1lm=-
5

y=2=5(x=5)



29) Through (4,2)perptoy = 4x
m=4

1
Ilm=—-—-
4

y=2=-,(x-4

31) Through (2,—2),perptoy = %x
1

m=-
3

1lm=-3
y+2=-3(x-2)

33) Through (4,—3),par toy = —2x
m=—2
m=-2
y+3=-2(x—4)
y+3=-2x+8
-3 -3
y=-2x+5

35) Through (—3,1),partoy = —gx -1

4
m=—-
3

4
Ilm=—-
3

y—1=—§(x+3)

37) Through (—4,—1) pary = —%x +1

1
m=-—=
2

1
||m——5
y+1=—%(x+4)
y+1=—2x—2

39) Through (=2,—1) pary = —%x -2

41) Through (4,3),perptoy = —x — 1

m=-1
Ilm=1
y—3=1(x—4)
y—3=x—4
+3 +3
y=x-—1

43) Through (5,2),perptox =0

m = undefined
1lm=0
y=2

45) Through (—2,5),perptoy =x — 2

m=1
1lm=-1
y—=5=—-1(x+2)
y—5=—-x-2
+5 +5
y=—-x+3

47) Through (4,—3),perptoy = %x -3

1
m=-
2

lm=-2
y+3=-2(x—4)
y+3=—-2x+8
=3 -3
y=-2x+5



